10 REM Program 1 - Trees

28 REM by Ian C. Sharpe
30 REM (c) Computing with the Amstrad
48 REW --=-==-==-=- CPL =m==mmmemomans

S8 DEFINT a-z:DEG:MODE 1

4@ INPUT"angle,depth,size? ",angle,depth
s5ize

7@ DIM stack(depth, 3):stack(sp,8)=B:stac
kisp,1)=0:stack(sp,2)=angle/2:stack(sp,d
J=depth+1

B8 CLS:ORIGIN 328,1B:sp=8:i=1

90 REM =====~= .
100 f=stack(sp,3)=1:1F f=0 THEN sp=sp=1:
IF sp=-1 THEN END ELSE 188

118 x=stack(sp,B):y=stack(sp,1):a=stack(
5p,2)

128 s=size+@.751 (depth-1-1)

138 al@)=a-(angle/2):a(1)=a+(angle/2)
148 tx=x+s*SIN(a(@)):ty=y+s2C08(a(d))
158 MOVE x,y:DRAW tu,ty

168 6OSUB 19@:605UB 198

178 sp=sp+1:6070 108

1!,' REM ============= ————T T T T T ] -
198 i=i XOR 1

2080 stack(sp+i, B)=tx:stack{spti, )=ty

218 stack(sp+i,2)=ali):stack(spti, 3)=f
228 RETURN




18 REM Progras I1 - Landscape

20 REM by Ian (. Sharpe

3@ REM (c) Computing with the Amstrad
R LPL ===mmrmmmmmmea

58 DEEINT a=-z:DEFREAL r,w

&0 RANDOMIZE TIME:DEG:DEF FMrn(r)=CINT(R

NDtr)

T8 MODE 1:BORDER 1:INK @,0:INK 1,11:1INK

2,18:1NK 3,26

88 REM --- Sky & big fluffy clouds ---

98 PAPER 1:CLS:PAPER @

188 FOR clouds=1 TO S+FNrn(2)

118 cloudx=3@+FNrn(580) :cloudy=330¢FNrnl

18%c louds)

120 FOR fluffybit=1 TO &+FNrn(2)

130 ex=cloudx=50+FNrn{10@) :ey=cloudy=-30+

Frn(&@)

1648 eri=f@+FNrn(8eclouds):ratio=@.1+RND*

8.2

158 GOSUB 3BB:MEXT:NEXY

168 REM =---- Sea, ground & hillg ====-

178 LOCATE 1,9:PRINT STRINGS(284,127);

188 PEM 2:PRINT STRINGS(240,206);5TRINGS

(240,206);:PEN 1

198 FOR dy=@ TO 12:y=182-dywdy

208 FOR x=@ TO 438 STEP 2:PLOT x,y+FNrn(

8), 14FNrn(2)

218 MEXT x,dy

228 FOR hills=1 TO 3+FNrn(1)

238 hy=298-hills#35:ht=(b-hills)elt:ulnl

=(@.15+RND) /3:Lift=ht+FRern(ht/18) :clip=F

Nenlht/6) :offst=FNrn(208)

260 col(@)=2:coll1)=FNral1)

258 GOSUB &5@:NEXT

268 REN ==----- - Grow some trees ======-=

278 FOR size=&B TO 168 STEP 15:RANDOMIIE
TIME

280 treey=20@-size:treex=28+FNrn(600):tr

eenid=CINT(size/4)

298 1F TEST(treex,treey+3f@)<>2 THEN 288
308 angle=FNrn(é)-&d;depth=B+FNrn{{size-

* 358 REM

LB el

318 DIM stack(depth,3)

320 stack(@,B)=P:stack(@,1)=0:stack(@,2)
=angle/2:stack(@, 3)=depth+l

130 ORIGIN treex, treey:sp=B:i=1

6@ GOSUB SP@:O0RIGIN B,B:ERASE stack:MEX
T

= Press Space when finished =
360 PRINT CHRS(T7)::WHILE INKEY(&T)<=B:NE
KD:RUN

380 ORIGIN ex, ey:ersg=eriteri

90 FOR x=@ TO erl STEP 2

LBB y=2+ratio*SAR(ersq-x*x)

#1! MOVE ‘:l._..‘;l'J"E:BIE“H E,‘,FJIFLHTH if'f‘
+1F RND<@.25 THEM PLOTR B,-y

428 MOVE x,-y/2:DRANR @,y,3:PLOTR @,-y,"
&38 NEXT:ORIGIN 8.8

L4@ RETURN

450 REM ======= Sine wave hill =====--
4L6@ FOR x=@ TO 638 STEP 2

§70 hh=MAX(LiftehtaSIN(offst+{xwulhl)]),c
Lip)

nag 1F hh>4 THEM MOVE x,hy:DRAWR @,FNrn(
4):DRANR B,hh,col(z):z=2 XOR 1:PLOTR 8,0

2
(30 NEXT:RETURN
5"! HE“ - Tr*-' R ——

518 f=stack(sp,3)-1:1F f=@ THEN sp=sp-1:
1F sp=-1 THEN RETURN ELSE 518

520 x=stack(sp,@) :y=stack{sp,1):a=stackl(
5p,2)

535 df=depth-f:s=sizev(B.71df):buid=2+tr
eewid/(21df)

540 a(@)=a-(angle/2)+FNrn(4)-2:a(1)=at(a
ngle/2)+FNrn(4)=2

S50 tx=x-s*SIN(a(@)):ty=y+s*(05(ald))
560 xd=tx=-x:yd=ty=-y

570 ix=bwid#COS(a(@)):IF ix=B THEN ix=1
580 xs=SEN(ix):iy=buideSIN(a(@))

598 FOR xx=x+ix TO x STEP -xs:yy=sytiy#(x



x=x)/ix:MOVE xx,yy:ORANR xd,yd,B:NEXT:DR
AN x,y, 3+¢(f<FNrn(3)+depthe+@.35)

488 GOSUB 63D:605UB 638

618 sp=sp+1:60T0 510

628 :

638 i=i XOR 1

640 stack(sp+i, B)=tx+ivin/2:stack(sp+i,l
Yetytiniy/2

650 stack(sp+i,2)=ali):stack(sp+i, 3)=1
&6@ RETURN



